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��������� ��� ����� ������ (������ �� ��� ���������� ��������� �� ���������� 	��
��� ��	�������� 
���$ 
��� ���� ��( ������� ��� ���������� ��� &� 
������ ��
����� �� �������� &��� ���&�
��� ���� ������ ��� ������� ������ ��� 	��������
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��� 
�� ���	��������� �������� ������

��� ������������� ��������� ��� &� ������� ���� �(� ��&������$ 0������� ���
������� �� ����
��� ������� ��� '����� �	 ��E����� &��� �������� ��� ������ &�
��� ������������	� ���������$ ��� �
���������	� ��������� �������� ��� ��������
��� 	����� ������ �� ��� �,��$

+



��� �������������� ��������� ��� ����������
�� �����
�� 
������ �� ��� ���#
�
��� ������ ��������� /F�
�� ������3 ��� '���� ���������$ ��� ����
� �����
��
��� &���� ��������� &��� �� ���� �	 ����
� ������� ��� �� ��� ���� �	 ����
� ���#
��������$ �� ���� ������� ��� 
����� �	 � ����
� ��� &� ������ �� ��� ���� ���
���� ��	�������� �� ���� �� ��� ������
 ������� ������ 	�� 	������ ����������$ ���
������ ��������� ������� �� �� ���������� ������ �� ��� ����
� �����
��$ ��
���� �	 ����
� ������������ ��� F�
�� ��������� ����� ��� ������������� �������
�	 ��� ������$ 9��� ������ ����
� ����������� �� ��� ���� �����
��� �&�
��� ��
����� ������� ������ ������� �� �����&
�$ ��� '���� ��������� ��� 
������ ���� ���
'���� �����
�$ ���������� ��� ���� &� '���� �������� ��� ���������� ��� ����
�
�������� �� ��� '���� �����
�$

��� �=����������� �������� ������ �������� ���� ���������������� 
������
�� ��� �,��$ ���� ���� ��� �&�
��� �� ����� ��� ������ 	����� ��
����� ��� ����
#
������� �	 ������������ �	 ��� �,�� C�*� �*D$

��� 
�� �������
	� ������

��� �����&�
�� ������ 
������ �� ��� �������
 ��� �
��� �� ��������� ��
� �� ���#
����
 ������
$ �� ��������� ��� ��	�������� 	��� ��� �����&�
�� ������ ������&���
�� �������� 6=����� �	 ��� ���� (��� � ����� �������� �	 ��� ���� ����� C�D$
�����	���� ��� .��
��� �	 ��� �����
 ��	�������� �� �������� &� ��� �����&�
��
������ ����
���� �� 	�

� ��>����� �����
 ���������� ������� ��������� �	 ���
����$ ��(����� ������� ���� ���(� ���� ���
�����
 
��� �	 �����&�
�� 	�������
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 ��� �������������� ��������� �
���$ �� ���� ����� �������
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���� ������&����� ��� ��
� &� �������� (��� ��� ������� �� &���� �=����� ��
���!������ ������� �����
����� C)D$

��� �����&�
�� ������ �������� �	 ��� 
�&��������� (���� ��� 
������ �� &���
����� �	 ��� ����$ ��� 
�&������� �������� ����� ���������
�� ����
� �
���� ��
��E����� �
���� 	������ ��� ,������ 
�&������$ ����� ��� ����
�� ����
�������
�	 ��� ���� ��� &� �������� �� ����� ����������$ ��� 
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�� ��� �� ��������� ��
� (��� ���������
��������� �	 ��� ����$ � �������� �	 ��� ���� ������ ����
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�������
(���� ������ � !�( �	 ��� ����
���� !��� �	 ��� ���������
�� ����
�$ �� ���
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���� !��� ��� �� �������
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���� �� � �(��� �	 ��� ����
� �� ��� �������� ��������� �� ���� �	 ��� ����#
���� �	 ��� ���� C�D$ 5��� ��� �������� ������� ��� ������ �	 ������� �	 ���
����
���� !��� ������ � �������� �	 ��� ����
� �� ��� ����� ���������$ ���
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��� ���� �� &���� �=����� �� 
����� ����
�������� �$�$ ������������
 ��

� ��
��������� ��������� ������ �	 ������� �	 ��� ���
���� ��� �������$ ��� ��
���
��� &��� &� ��� ��������� �	 ��� ���
���� ���� 
�,� �� ��� ���������
�� ����
��
���� ����� ������ �� �������� �� �������� �	 ��� ��
���-����� �	 ��� �����&�
��
�E����� �������$ ����� ��� �������� �	 ��� ���� (��� ������� �� ������� ��� &�
����������$

��� �����&�
�� ������ ��� �� ��������� 	��.����� ����� �	 > 0.1 �- 	�� ���
���������
�� ����
� ��� < 0.1 �- 	�� ��� ���
��� ������ C � � D$
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���� ��������� �������������� �	 ��� ������ ��
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���� �� ������� ��� ����� ����� 	�� 	������ ����������$ 2� ��� ��� �	 ��� �����

��	��������� &��� 	���&��, ��� ���� 	���	��(��� �&�
��� �� ��������$ ��(�����
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 ������
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� ,��(� ���� ���	������ &�
���� ���,� (���
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� ���� �� ��� ���� �	 ���� ���� ��� �� 
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���� �� &��� ��� ���&�
�-��� ��������� ����$ ��(����� �	 ��� &�
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�	 ����
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��� ���������� &� ��� ������
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����$
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��� &�����������
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 &� ��� ����� �	 �����&
� �������� ��������$ ����������� ��� ������
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 ������
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�=���������

�$ �
������� ��� &�����������
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� �� ������� ������$
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�������� ��� ��� "���" �������� C<D$ ����� ��� ��,
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&��� �� ���E ��� ���� ������ ��� ��,
� '����$ 
�� ��� �����&
� ��� &��� ��#
������ �� ���� ���� (��� �� �������� �����
�� (���� �� �����&
� �� ��� �������
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 ������
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 �����

?����� *$�H %�������� �

��������� �	 ��� �������������� ����������� ������$
�� ���� ������� ��
� �����
�� �� ��� ��
	 ����
�� �� ���
���$

��� ��������

��� �7 ��&'����� ���� ��
� ��� ����� 	���
� ���� &��(��� �+ ��� *8 ������ ����
������������ �� ��� ����� (��� ���
��� ��� (������ ��� ������� �	 �������� �	 ���
������
 ������� ������ �� ��'��� �	 ��� 
�(�� �=���������$ 4��� ��� (�� �*$)
������ σ = 5.08I ���� (����� 7)$* ,�� σ = 17.29 ��� ���� ������ �$77 �� σ =
0.09$ ?����������� �� ��� ��� �� ��� ���� �	 ������������� ��,�� ��� ����������
�� ����� �����$ B������ ��� ���� ������� ��� �
����
 	�� �� 
���� )8 ����� �����
��� �������������� �����$ ��� ��&'���� (��� ���������� ��� �� ������� ���
&�������� ���������� ��E���� ������ ��� �(�,� ������$ ���������� 
�,� �������
�������� ������ (��� ��� �

�(�� ��� �� ��� 	��� ���� ���� ��� �E��� ���
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������ �������� ����$ ��� �=��������� (��� ���	����� �� ���������� (���
��� ��
���,� ���
������� �	 �<7 ��� �������� &� ��� 
���
 ������ ���������$

��� ���������

��� ������������� (�� ���� ����� � ������ ���� 	���� �
��	��� ����
���� ��
��� ���������� �	 %�
�� 4��������� ���� ��������� �	 ������
���$ ��� 	����
�
��	��� (�� �&
� �� ������ ����� 	����� ��� ���.��� �� ����� ����������� ��,���
� ����
 �	 ��= ������� �	 	������$ 1������� ���� (��� ����
�� (��� ��� ��	�(���
0������ ������� �� � 0: ��������� �� �� �� ���������$

��� ��&������ �������������� �����
����� (�� ���� ����� ��&������ ��������
�� ��� &�

� �	 ��� ������������� ����
�� �	 &��� 
���$ ��� ��&������� (���
��������� &� � ����
���� �:#����� ������ � *$ � (����� �
���� �$� �� ��#
������� �� ��� ���$ ��� ����� (�� ��&����� �� � ��
�������
 �
����� ���

 (���
�������� � �� ��� 
����� + ��$ ��� ����� (�� 	�� (��� �� ������ ������
&����� ��.����� /012%3 �� ����� �� ������ �E���� �	 ������������ &������� �	
��� ��&'���� �������� �� ��� �����
�����$ 2� ��� ��� �	 � 012% �����
� ���
��&'���� ���� �� �����&�
��� �� ������� (��� 	����� �����
����� ��.������ (�


�����$ ������ ��� ��&'���� ���� �� 	���	��(��� �&�
��� �� &��� ����� �������

������
 �������� �� ������������� �	 ��� �����
����� �����
$

?����� *$�H %�������� �

��������� �	 ��� J�&��� ������ 	�� ����������� �	 &���
���������$ ��� �
������� �	 ��� �������� ���,��� �� � ��&'��� �������� ��
��� 	���� �
��	��� ��� ���(�$

2��� ��������� (��� �������� &� J�&��� :4%#�% ��������� %����� 	��
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*� 4����� ���
����$ ��� J�&��� ������ ���� ��= �������� ���,��� �
���� ��
��� ��&'���� &��� �� ��,
�� ,���� ���� ����
���� ���� ��� ���,$ 2� ��� ���
�	 ����� �
�������� ������������ �������� �� � ������
� (���� ����������
� ���
������� ��
��� �� )� ,�-� ��� ��������� �	 ��� ���,��� ��� &� ���������� &�
�������
�����$ ��� ���,��� ������� ��� ��
��� &� ���

 ����������� ��� ���
��� ��E����� ������� ����� �	 ��� ��
��� ��� ����� ��������������� ��� ��������
&��(��� ����������� ��� ���,�� ��� &� ����������$ ������ ��� �=��� ���������
�	 ��� ���,��� (��� ���������� �� ����� ���������� &� ��� =# �# -# �����������$

�� ��,� ���� ���� ��� ��&'���� ���� ������ �(�,� ������ ��� ���� �������
99F �.������� (�� ���� �� ������ ��� &���� ��������$ �	 � ��&'��� ��� 	�

��
��
���� ���� ��� &� ���� �� ��� 99F#����$ ��� 99F#���� (�� ��

����� ���� ���
	�����
 ��
� ����� ����� �
��������� 99F �����
� ������ ��� ��	������ �����
$
��� ������ ������
 (�� �������� �� ��� 	�������� ��� 99F ������
 �� ���
����� ����
� ��� � ��	������ �
������� �
���� �� ��� ������� &���$ ���� (��
�������� &� � ������� 9�&
���� K�������� 99F K �� ����� � ����
� 	��.�����
�	 ���� �-$ ��� ���� (��� ���� ��(� ����
�� �� ��� �- �� ������ ��� ��-� �	
����$ 99F &���� �������� ��� ���� 
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�������� ���� �������� &� ��� J�&��� �.�������$ 0#��
��� 
��� ���� �$� ���
���������� �����6����$

��� !	����	���	
 ����
��"

��� ������ �������
��� ���
��� �� ���� ������ �� ���
��� ��� ���������� �	 ���#
����
 ������
 �	��� �
��� ����������� �� �����������
 ����
��� ����� ������
������6������ �������$ 4��� �	 ��� ������6������ �� ���	����� (��� ��&�����
�
�������� /4�4
3 (���� ��,� �� �����&
� �� �������� ��� ������ ������
� 	���
�����#������ ����$

��� �����������
 ����������� �	 ��� ���������� 	��� ��� �.��
�&���� �����
������ ������&�� ������ ��� &� (������ ����� � ����� ����� ���������

xk+1 = Axk + Buk + vk

yk = Cxk + Duk + ek, /)$+3

(����

• k ������� ��� ����
� ���� ����=I

• A, B, C ��� D ������� ���>����� �������� (���� �� �� &� ��������� &�
6����� ��� ����
 �� ����I

• vk ��� ek �� ���������� ������&����� ������ �� ��� �������� �$�$ ��� &���
���������� ��� �� ��� ������������ ����������
�I

• {uk} �� ��� �����
�� ��&������ �� ��� ��
	 ����
��I

• {yk} �� ��� �������� ��.����� �� ��� �����
������ �$�$ ��������� �	 &���
�������� ��� 	����#���� 	��� ��� �
��	���I

• xk ������� ����� �����&
��� 
�,� ��������� ��
����� ��� ����� "�������" ����#
�&
��$

����� ��
����� �������� �����	��

5��� ��� &��� �� �=����� �� ������&������ �� ��� �������
 �
���� �$�$ ������#
�������� �����
����� �	 ��� ��
	 ����
��� ��� ��&'��� ������� (��� &��� ����#
����� �� ������ ���&�
���$ �	 ��� ������&������ ��� ���

� �� �� ��>����� �� ���
��� "��,
�" ��������� �$�$ ��� ����
�� ������ ��� &��� ������ ��� ��,
� '����� ��
�������� ������� ������ �� �.��
�&���� C��D �$ )7+$ 5��� ��� ������
 ���, &�#
���� ������� �� �� ���� 
�,�
� 	�� ��� ��&'��� �� ����������� ��������� ������
��� ��� '����$ ������ ��� &��� �������� ��� &� ����

�� �� �� ����
� 
��,��

�7



�� ��
��#
��,�� �������� �����
�� C��D$ ��� �������
 ����
 �	 � ���#�������
�������� �����
�� ��� &� ������&�� �� 	�

�(�$

��� 	�

�(��� ����������� ��� �� &� ���� C��DH

• ���������� �
 ��� &��� �� ���E ��� ��� ��� ���� � /,�3$

• ���������� �
 ��� &��� ������ �	 ���� �� 
������ l /�3 	��� ��� 	����
�
��	���$

• ���������� �
 ����� �� �� �.��
�&���� &��(��� ��� 	����� ������ �� ���
&��� ��� ��� ���.�� ����������� &� ��� 	���$

�	 � ������ ���� ��� ������� �� ��� �������� ������ &� ������������
 	������
��� &��� �� ����
�� &� ��� 	���� �.��
�&���� �	 �� �������� �����
��$ ��� ���
&��� ������ �	 ������� ������ ��� ��,
� '���� &� ����� &� J � ���� � ������
�������� ������� ��� ��&'����� �� � ������������
 	���� g 	�
6

� ��� �.��
�&����

J
d2θ

dt2
= mgl sin θ(t), J = ml2. /)$73

�� �� �
��� ���� ���� �.��
�&���� �� �����&
�$ ������ � ������ (�� ���� ���
���������� ��� ������������
 	���� g (��� � ���&�
�-��� ���.�� (�

 �������
� 	�

$
���
����� � ���&�
�-��� ���.��� Tbal(t)� ��� � ������&���� ���.��� Td� �����������
�� ��� �������������� �����
������ ��� 	�

�(��� �(� ����������� ��� ���������$

• ���������� �
 ����� �� � ���&�
�-��� ���.�� Tbal(t) ������ ��� ��,
�$

• ���������� !
 ����� �� � ������&���� ���.�� Td(t) 	��� ��� �����������
/�$�$ ������� &� ��� ��&������ �����
����� �	 ��� ��
	 ����
��3$

���� ��( ���
� ��� 	�

�(��� �.��
�&���� �.������

J
d2θ

dt2
= mgl sin θ(t) + Tbal(t) + Td(t), J = ml2. /)$83

B�(� ��������� ��� ����� ������

x =
(

x1

x2

)
=
(

θ(t)
θ̇(t)

)
. /)$<3

����� ��� ���������� �	 ���

 ��������� ������ ��� �.��
�&���� ������ 
��#
����-����� ������ θ = 0 ��� &� ����$

dx

dt
= Acx(t) + Bcq(t) =

(
0 1
g
l 0

)(
x1

x2

)
+
(

0
1

ml2

)
(Tbal + Td)

y(t) = Ccx(t) = ( l 0 )
(

x1

x2

)
/)$��3

%���� ������ )$�� �� � ���������� ������� �� ��� �� &� �����	����� �� � ��������
������ �� 6� ��� 	��� �	 ������ )$+$ B��� ���� Tbal + Td �� ���
���� (��� �����
�����
 u� ��� ��&������ 012% �����
$ ���� �� ��� ��� ���� �� ��� �(� ���.���
Tbal ��� Td� &�� ���� �� ����� 	�� �

 ��������� ����
�$ ������ ����� ��� ����
���&
�� �� �� �������� ��� �������� A, B, C ��� D ����� ������ ������6������$
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����� �������� ����� 	����	����	
�

�� ������ ������ ��� ��� �	 ��&����� ������6������ ������� ���� ���(� ������#
���&
� C��D$ ��� &���� ���� �� �� �������� ��� ����� �����&
��� �$�$ ��� ��������
A, B, C ��� D� ������
� 	��� ��� ����� ������ ����$

������ �������� ��� ��������#���� ����#��������� 
����� ������ �	 �.������
)$+ (��� ��� ������� ��� ����������� ����� ����� &� ��� -��� ���� ��.������
{vk} ��� {ek} (��� ��� ���������� �����=

Σ = E[
(

vk

ek

)(
vk ek

)
] =

(
Σv Σve

ΣT
ve Σe

)
> 0 /)$��3

��� ���������
��� ���������

E[
(

xk

uk

)(
vT

k eT
k

)
] > 0 /)$��3

�� &�
����� �� &� ����$ ?�� � ���� �������� ����������� �	 ��&����� ������6��#
����� ��� C*� ��D$

�� ���� ������� �(� �
�������� �	 ��&����� ������6������ ��� ���� 	�� ������#
6������ �	 ��� ����� ����� ������ ����� �� �.������ )$+$

• B�������
 �
�������� 	�� %�&����� %���� %���� %����� ������6������
/B)%��3$

• 4�
�������&
� 
�����#9���� %���� %���� �
������� /4
9%03$

(����)������� *�����+����� ,���� ,���� ������� � -(*�,./

��� 4
9%0 �
������� �� � ���� �E������ �������� 	�� �����#����� ������6������
&� ;�������� ��� ��(�
�� C�)D$

�$ 
�����-� ��� ���� �� ���,�
 ��������� ��� ��6�� ��� 	�

�(��� ��������H

Y (h)
rs =

⎛
⎜⎜⎜⎝

yk yk+1 . . . yk+s−1

yk+1 yk+2 . . . yk+s

$$$
$$$

$ $ $
$$$

yk+r−1 yk+r . . . yk+s+r−2

⎞
⎟⎟⎟⎠ /)$�*3

U (h)
rs =

⎛
⎜⎜⎜⎝

uk uk+1 . . . uk+s−1

uk+1 uk+2 . . . uk+s

$$$
$$$

$ $ $
$$$

uk+r−1 uk+r . . . uk+s+r−2

⎞
⎟⎟⎟⎠ /)$�)3

���
X = ( xk xk+1 . . . xk+s−1 ) /)$� 3

�$ 4�,� ��� N1#	������-�����(
U

(1)
rs

Y
(1)
rs

)
=
(

R11 0
R21 R22

)(
Q1

Q2

)
/)$�+3

�<



*$ :�
��
��� ��� ��
��� ����� �	 ��� �=������ �&�����&�
��� �����= ����� ���
�����
�� ��
�� �������������� R = USV T

R22 =
(

Un

U⊥
n

)(
Sn 0
0 S⊥

n

)(
V ⊥

n(
V ⊥

n

)T
)

/)$�73

B�(� &� ���������� �	 ��� ��������� �	 ��� �����
�� ��
��� �	 S� ��� �����
��� &� ����������$ �� �� � ���#�����
�� ����
����� �����	�������� �����=
T ∈ Rn×n� Un �� �� �������� �	 ��� �=������ ������

�&�
��� �����=

UnT−1 /)$�83

(���� ��� &� ���� �� ��
��
��� ��� ��������� Â, Ĉ �	 A ��� C$

)$ ���
� 
����#�.���� ���������� ����� ��� ��������� Â ��� Ĉ �� ��� �����#
����� ����


xk+1 = Âxk + Buk + Kwk

yk = Ĉxk + wk, /)$�<3

�� 6�� ��������� �	 ��� 2 �����=$

0�,�% ������� �

��� B)%�� �
������� �� ����
�� �� ��� 4
9%0 �=���� �� ��� ���� (���� ���
N1#	������-����� �� ����$ B)%�� ��,�� �� N1#	������-����� �� ���� �$ ��������
�� �&
�.�� ���'������ Oi �	 ��� ��( ����� �	 Y �
��� ��� ��( ����� �	 U �� ���
��( ����� �	 &
��, ���,�
 �����= 1 ���������� �	 ������ ��� ������� �� ����$
��� ���� �&
�.�� ��	��� �� ��� ���������
 ���'������� ��� ��� &� �����������
�� 	�

�(�$ 4�,� ��� ���������
 ���'������ �	 ��� ��( ����� �	 Y ���� ��� '����
��( ����� �	 U ��� 1 ��� ��������� ��� ����
� �
��� ��� ��( ����� �	 W $
��� �&
�.�� ���'������ Oi �� ������� Oi = Y/U1$ %���� �(� ��� ����� �� ���
4
9%0 �
������� ��� ��( ���
���� (��� ��� 	�

�(���H

• 4�,� ��� �&
�.�� ���'������ Oi = Y/U1

• :�
��
��� ��� %;� ����������� �	 ��� (������� OiH

W1OiW2 =
(

U1 U2

)( S1 0
0 0

)(
V T

1

V T
2

)
= U1S1V

T
1 , /)$��3

(���� W1 ��� W2 ������� (�������� ��������$ ?�� ���� ��	��������� ���

�������� ��� �� 4��� /�<<<3 C*D$

����� �
��� ������	
�

��� ����
 ����� �	 � ������ ��� &� ������� ����� ��� &�
����� ���
�-����� �	 ���
�������
 ������$ ?�� � ���� �����
�� ����������� �	 &�
����� ����
 ����������
��� ��������� /���)3 C��D$

��� �&�����&�
��� ��� ������&�
��� �	 ��� ������ ���(��� ��� �(� .�������H

• ���� 
����
 ��� �� ������� ���� � ��	�� ����� ������ �

����� ���� �������

�����

��



• ���� 
���� ������ �
 ����

��� ��� uk = 0 �� ����� �� ������ 
�������
������ �������

��� ������&�
��� ��� �&�����&�
��� �	 � ������ ��� &� ���
���� ����� ��� �����#
�&�
��� ��� �&�����&�
��� F�������� P ��� Q$ ?����������� ����� �=���� � �����#
	�������� zkTxk ���� ���� ��� ������&�
��� F������ Pz �.��
� ��� �&�����&�
���
F������ Qz$ ���� �������� �� �&������ &� �������� � ����� ����� ��������������
z (����

Pz = Qz = Σ = diag(σ1, σ2, ...), σi =
√

λi(PQ). /)$��3

��� i�� �������
��� �	 �����= PQ �� ������� λi(PQ) ��� Σ �� � �������
 ��#
���= (��� �
������ σi$ B�(� ��� ��������� �	 ��� �������
 �
������ σi �	 ���
F������ Σ �=������� ��� ��
����� ���������� �	 ���� �����$ ?�� ���

 ��
��� �	
σ� ��� ������������� ����� ���� 
��� ���������� ��� ��� &� �
��������$ ����
��������� �� ,��(� �� &�
����� ����
 ��������� ��� ��� &� ���	����� ������

��� (��� ������� ��� ������$

����� � ��� ����
���

:���������� � ����
 �	 ������� ������ �$�$ ����� &��� ���������� ��� �������

������
 ��� &� ���
���� 	��� � 0�� /�����������
� ������������ ����������3 �����
�	 ���($ ������ ��� 	���� �.��
�&���� �� �.$ /)$83� (� ��,� ��� ���������� ����
0�� ������
 ��� ��� ��,
� ���.�� Tbal �� ��>����� �� �������� ������� ������$
��� 0� �� � ���������� ��� &� (������ ��

0 : −mgl sin θ(t) − kJθ(t) /)$��3

� : −ρJ

∫ t

t0

θ(t)dt /)$�*3

� : −ηJθ̇(t) /)$�)3

��� �� ����������-�� &� ��� ���������� k, η ��� ρ$ ����� ���������� ���� ���
	�

�(��� ��������������$ ��� ��������� k ��� &� ���� �� � ������ ��������� ���
��������� η ������&� ��� ������� �	 ��� ������ ��� ��� ��������� ρ �� ��
����
�� ��� ���������� ����� �� ��� �������
 ��������� �	 ��� ������
 ������$ ��
��� &� ������� ��� ���� ��� �������
 ��������� �� ��� ������

� ��������� 	��
���&�
���$ ��(����� �� �� ���� �� �
������� ��� ���
 �	 ��� ������

�� ������$

5��� � ��&'��� �� �=����� �� �������������� �����
��� ��� ��&������ v ��#
�������� ������&����� �	 ��� ������� ������� 
������ �� ������������� �	 ���
�������� θ ��� ��� ����
�� ��
����� θ̇ ���
���� ��� 	�

�(��� ����6������ �	 ���
0 ��� � �������$

0 : −mgl sin θ(t) − kJθ(t) + b1v(t) /)$� 3

� : −ρJ

∫ t

t0

θ(t)dt + b2v(t), /)$�+3

/)$�73

(���� b1 ��� b2 ������� ��� ��
����� ��!����� �	 ��� ������&���� v �� ��� ���#
�������� �	 θ ��� θ̇$

����� 0��#������
 �������� (��� ��� 	���� �.��
�&���� �� �.$ /)$83 ���
�

J
d2θ

dt2
= mgl sin θ(t) + Tbal(t) + Td(t), /)$�83

��



(��� ��� ������
 
�(

Tbal(t) = −mgl sin θ(t)− kJθ(t)− ηJθ̇(t)− ρJ

∫ t

t0

θ(t)dt + (b1 + b2)v(t). /)$�<3

9
��������� �	 Tbal 	��� �.$ /)$�<3 �����

J
d2θ

dt2
= −ηJ

dθ

dt
(t) − kJθ(t) − ρJ

∫ t

t0

θ(t)dt + Td(t) + (b1 + b2)v(t). /)$*�3

�� ��$ /)$*�3� ����� ��� ����� ������ ���� �E��� ������H ��� ����
�� ��
��#
��� dθ/dt� ����
�� �������� θ ��� ��� ���
 ������������ �������� &� �������

������$ ?�

�(��� ��������� /�<883� � ���
��� �����	�������� ��� �
��&����
����
�6������ ����� ��� �����	�� 	�������

θ(s) =
1
J (b1 + b2)s

s3 + ηs2 + ks + ρ
V (s) +

1
J s

s3 + ηs2 + ks + ρ
Td(s). /)$*�3

?�� ���

 ��������� ������ ��� �.��
�&���� θ = 0� sin θ �� �����=�����
� �.��

�� θ$ �������-����� ������ ��� �.��
�&���� ����� � �����	�� 	�������� &��(���
�����
�� V ��� ������&���� TdH

Tbal(s) ≈ (Js2 − mgl)θ(s) − Td(s) /)$*�3

=
(b1 + b2)(s3 − g

l s
2)

s3 + ηs2 + ks + ρ
V (s) − ηs2 + (k + g
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V ar(y)

)
· 100% / $�3

;�? ����
� &� ����������� �� � ������� ��( (�

 ��� ����
 �=�
��� ���
��������� �	 ��� ������ �����&
��$ �	 ��� ����
���� ������ �� ��������
 ��
��� ���� ������� ;�? �.��
� ��� P$ ��( ��
��� �������� ���� ��� ����

��
� �=�
��� � ���

 	������� �	 ��� ����
 ��������� �	 ��� ������ �����&
��$
��(����� �� ����
� &� ������� ��� ���� � ��&'��� �
(��� ��� � 
���� ���� �	
����������� �(�� ���� ������ &� �=�
����� 	��� ��� �����
�� �� ��� ��
	
����
��$ ?����������� �� �� �����&
� �� ������� �������� ��
��� �	 ;�? ��
����� �	 
����� �������� �	 ��� ����� �����
 ���� ��� �������� �	 ��� �����

����
	$

��� !���
 �����	����

�� ������&�� ��������
�� ��� ���� ������� �	 ���������� 	��� ��= ����
� 	�� ����
��&'���$ ��� ��=���
 ���&�� �	 ������� ��� �)� (���� �8 ��� (x, y, z)#�����������
�	 ��� ��= �������� ���,��� ��� + ��� 	����� ��� ���.��� �������� &� ��� 	����
�
��	���$ ��� �������� (�� �� �������� ��� ����
 	�� ��������� �� ��� ��#
������������� ��������� ��� ��� ����
 	�� ��� 
�����
 ��������$ �� ��� ������#
��������� ����
� ��� y#����������� �	 ��� ,���� ���� ����
��� ��� ���� ��������

� 



(��� ��� 	���� Fy ��� ���.�� Mx (��� ���� �� �������$ ��� ���, ���,�� (��
���������� ��������� ��� �� ��� ���� �����
����� (��� ��� ���� ���,��$ ?��#
��������� ��� ��,
� ���,�� (�� �=�
���� ����� ���� ����� ������

� ���� (���
���� ���

 ���
�����$ �� ���� (��� ��� ������� ���� ��� �������� �	 ��� �����
/�����
��3 ��� ����� �������$ ��� 
�����
 ����
� (��� ��������� 	��� ���� ����
(��� ��� ���� ���������� &�� (��� ��� ��� �	 ��� x #����������� ��� ��� 	����
Fx ��� ��� ���.�� My �������$

��� ���� ���� (��� ������� ���� 6�� ������� (��� .���� ������ &���� ��� 6���
*� � ������$ ��� 	��� �����
�� �������� ��� ������� ������ �#�;� ���� �

 ���

�����  � �$ �

 ���� ������ ���� (��� ��������� �� ������ �E���� ��� 
�����
������ �� ��� ����$ ��� ��
�� ���� �� ��� ������ (�� ��� �� �$� � (���� �� ,��(�
	��� �������� �=��������� �� &� � ���� �����=�������$ ��� ������
 ����� ������
(�� ��������� 	�� ������� �������� �� ��� ����
������$

��� ���������� ���������� ��� �������� �	 � ���&
� ������� �������� ���#
��
�� �������� ����
� �	 8�� �����$ ��(����� ����
� �	 
��� �� �	 ������ �����
���
� &� �	 ��������$ �����	���� ����
 ������ 	��� ) �� �� (��� ������ ���
�,��,�� ?���
 0��������� 9���� /?093 (�� ���� �� ������ ����������� ����

�����$ ��(����� �� ���� ����� ��� ?09 ��
�� ��������� � ����
 ����� ������
���� 8$ �� ��� ����
 ����� ���������� ��� ���, 	�� �����&
� ��������� �������
�
�� ��������� ����
���� �� ����
������ ���� Q�=�
����R$ ������ ��� &��� ����� ��
�� ��� � ����
 ����� ���� ������� ���� �	 ��� ��'�� �������� �	 ��� ������
(������ &���� ����������� ����$ :���������� ��� �&���� ����
� �	 8�� �����
(��� ������$


�� ����
 �� ���� �	 ��� 	��� �����
�� ������� (�� ��������� ����� ���
B)%�� �
�������$ � 6	�� ����
 (�� ��������� �� ��� (��
� �����
�� ������
�	 ��� �$ �(� ���
������ ���������� (��� ����$ ?����� ��� ��������� ����
 �	
�����
�� ������ � (�� ��
������ ������� ����
	 ��� ��� ��&��.���� ����� �������$
��� ������� �	 ���� (�� �� ��� ���������� �	 ;�? (��� ��� 6��� ������ �� ��
#
������ ������� �

 	��� �����
�� �������$ ?�� ��������� �	 ����� �� ���� ,��� �	
���� ������� ���������� ��� �� ��� ���������� �������� � ����
 ���������
�� ������ � ��� ��� &� � ���� ����
 �� 
���� ���� �������� ����� ��� ������
��� ���� �������$ �	 ���� �� ��� ����� �� (�

 &� ���� �� ��� ;�? ��
��� (���
��������� ����
���� ��� ���� ������ �	 ��� ������$

�� ������� ��
������� ��������� ��� 	��� ����
� ��������� ������� �� ��� ���
��� �; (��� ��
������ ������� ��� ���� ���� �������$ ����� ��� ���������� (��
���� ��� ��&'��� ��� ����� �� ��� �����
�� ����
���� �� ������� &��� �(��$ ��
����� (����� ��� �����
�� (�

 ����� ���

�� ���� �	 ��� �������� &��� �(�� ���
�� ���� ����������$ :����.����
�� ��� ��
��
���� ;�? ��
��� (�

 �������� 	��
����
� �	 	���������� ���� �������� �	 ���� ���������� �� ����$

��� ���� ��
��� �	 ��� ;�? ��
��� (��� ��
��
���� ��� �
����� 	�� �

 ���#
�
����� ����������$

��� ���������� 
������

� 
�����

 ��� ������� (��� ��
��
���� 	�� �������
�#�; ��� ��� ����
��� �����
�� ������ 	�� ����� ����
$ ���� (�� ���� &��� (���
��� ��������������� ���.��� 4= ��� ��� ����
��� �������� �� �������$ %���������

���
���� �	 ��E������� &��(��� ������� �#�;� ��� &��(��� ��� ���� ����
� ::� :
�
%��):� %��):
� %�*+: ��� %�*+
 (�� ���	����� ����� ��� 5�
��=�� ���#
���������� ���� ����� ��� ��
��� (��� ��� �����

� ������&����$

�+



������� �

����
��

��� ��&'������ ������� �	 �
�������� ���(�� ���� � �	 ��� �7 ��&'���� ����������
������
��� ���� �
���� �	��� *+ ����� �	 �
��� �����������$ ��� ��� ���� /���#

������ ��������3 ��������� � ������� �
������� ��� �� �
��� �����������$ ����
(�� ���� ������� �� ��� �������� ��
����� (���� (�� ����������

� 
�(�� ������
�
��� �������� ����������� �������

� �� ����� �	 
���� ���
������ �� ���������$

��� �������� 99F ���� ��������� ���� �

 ��&'���� ��� ������ �(�,� ������
*+ ���� ���� ������$ ��� �� ����������� 	��
���� ���� (�� 
��� 	��� ��� ���#
����������� �=��������� �	 ��� �	 ��� ��&'���� �������� ��� ���&�� �	 ��&'����
�� �+$

��� ���
������ �	 �������
 &��� �(�� (��� �
(��� 
������ �� ��� ������#
��������� ��������� (��� � �������� ���, �� ��� ���� �	 ����� �	 ��� ��&������
�����
��$ ���� ���, ��� &� �����&
�� �� ���� ,��� �	 ������
 ���� ��������$

�7



0 50 100 150 200
−200

−150

−100

−50

0

50

A
nt

.−
po

st
. m

ov
em

en
t [

m
m

]

0 50 100 150 200
−100

−50

0

50

100

La
t. 

m
ov

em
en

t [
m

m
]

0 50 100 150 200
−1

0

1

2

S
tim

ul
us

Time [s]

Ankle Knee Hip Shoulder Face

?����� +$�H 1������� &��� �(�� �	 ��� ��&'���$ 2��� �(�� �� �
���
� ������� ��
��������� �� ��� ��������������� ��������� ���� �� �� �� 
�����
 ���������$ 2���
��������� �
��� ��� z#�=�� �� ���
���&
� �������� �� ��������������� ��� 
�����

�������� ��� ��� �����	��� ��� �
�����$

�8



−10 0 10 20 30 40 50 60 70 80 90
−100

−50

0

50

100
Closed eyes control trial

Lateral Movement

A
nt

er
op

os
te

rio
r 

M
ov

em
en

t

−10 0 10 20 30 40 50 60 70 80 90
−60

−40

−20

0

20

40

60
Open eyes control trial

Lateral Movement

A
nt

er
op

os
te

rio
r 

M
ov

em
en

t

Knee Hip Shoulder Head

Knee Hip Shoulder Head

?����� +$�H KS#�
�� �	 �������� &��� ��������� 	��� ��� ��&'��� ������ ���
����
��� ���� ��.����� ���
����� .���� ������ ��� �����
�� ������$ 2��� (���
�
���� ���� ��� ���� ����� ��� &��� �(�� �� ������� �� ��������� �� ��� ����
��� �����������
� 
��� �� ��������� ��(� ��(���� ��� 	���$ :�������� ���� &���
����� �� ��� 
�����
 ���� ������ 	�� &����� �����
�������$

�<



���  	��	��� 	�� �����
	���� 	�	
����

 ���� !��	���� 
" �
�#�� ����

��� �������� ���
���� �	 �������� ���.�� �� �
���� ��� ���� ���� ����� �� ���
��������������� ��������� ��� &� ���� �� 6���� +$*$ �� ��� �
���� ���� ����
�� ���
&��� �(�� (�� �����6����
� 
����� 	�� ����� �	 ��� 	��� �����
�� ������ ��������
(��� �
���� ���� ������
 ����
�$ ?�� ��� *+ ���� �
���� ���� ����
�� ��� &��� �(��
(�� �����6����
� 
�(�� �� ��� 6��� �����
�� ������ (��� ��������� (��� ������

����
�$ ���� (�� ��� ��� ���� �� ��&��.���� �����
�� �������$ ��(����� ��� ����
����������� 	��� �� ���� ��� &��� �(�� �������� �� ��� �) ���� ����
 ������ �� &�
�����6����
� 
����� ���� ��� *+ ���� ��������� /6���� +$*� ������ � ��� ������
�;3$

��� ���� ���� ��������������� ���.�� �������� ����
�� �� ��� ������� ���� ���
�������
 ������
 �� �E����� &� �
��� �����������$ ��� ��
� �����6���� ��E������
(�� �&������ 	�� ��� ����� �����
�� ������ (���� &��� ��� �) ���� ��� ��� *+
���� ��������� �
���
� ������ � 
����� &��� �(�� ���� ��� ���� ���� ������

����
�$ %���� ��� ����������
 ��E������ (�� ���� ������� �� ��� �
���� ���� ����
�
(���� ����������
 ��E������ 	��� ��� ������
 ����
 (�� ���������� �� ������ ���
��� ��� �;� �� ��� &� ����
���� ���� �������
 ������
 �� �E����� &� �) ���� �
���
����������� (��� �
���� ����$

?����� +$) ���( ��� ����
�� �	 ��� 
�����
 ���.�� ��������$ �� ��� �
���� ����
����
�� (���� ����� �� ����������
 ��E������ ���������� 
����� &��� �(�� �� �)
���� ��������� �� ������ ��� ��� ��� �; ��������� (��� �
���� ���� ������
 �����$
?����������� ������� ��� ��� �; ���� ������ �����6����� 
���
 (��� P < 0.01$
�
��� ��� *+ ���� �
��� ����������� ��������� �������� �����6���� ��E������
/P < 0.053 �� ������ ��� ��� �; ���������� (��,�� �������
 ������
 �� ��� ������
��
	 �	 ��� �����
�� ������$

��� ���� ���� 
�����
 ���.�� �������� ���
���� �������� �����6���� ��E������
�� ��� �) ���� ����
 �� ������ ��� ��� ��� �;$ �� ��� *+ ���� ���������� ����� (��
��
� � �����6���� ��E������ �� ������ �;$

?��� ��� ����
��� �E���� �� �������
 ������
 ��� �� �
��� ����������� �� ����
�������� �� 
�����
 ���� ���� �� �� �� ��������������� ����������$ �� ��� 
�����

����
��� 
����� &��� �(�� ��� &� ����
���� �� 
���� �����
�� ������� �� &���
�
���� ��� ���� ���� ����
�$ ��� ��������������� ����
�� �� ��
� ������� 
�����
&��� �(�� �� �
���� ���� ����
�$

*�



Anteroposterior Torque Variance in Closed Eyes Tests

0,0

1,0

2,0

3,0

4,0

5,0

6,0

7,0

8,0

Quiet

Stance

Period I Period II Period III Period IV

Periods of Vibratory Stimulation

T
o

rq
u

e
V

a
ri

a
n

c
e

CC

SD24C

SD36C

*

**

*

*
* *

Anteroposterior Torque Variance in Open Eyes Tests

0,0

1,0

2,0

3,0

4,0

5,0

6,0

7,0

8,0

Quiet

Stance

Period I Period II Period III Period IV

Periods of Vibratory Stimulation

T
o

rq
u

e
V

a
ri

a
n

c
e

CO

SD24O

SD36O

*

*

?����� +$*H ��������������� ����
�� �	 ���.�� �������� �������� &� 	���� �
��#
	���$ T ������� � �����6����� 
���
 �	 P < 0.05 ��� TT ������� �����6����� 
���

(��� P < 0.01$

*�



Lateral Torque Variance in Open Eyes Trials

0,0

0,2

0,4

0,6

0,8

1,0

1,2

1,4

Quiet

Stance

Period I Period II Period III Period IV

Periods of Vibratory Stimulation

T
o

rq
u

e
V

a
ri
a

n
c
e

CO

SD24O

SD36O

** *
*

*

*

Lateral Torque Variance in Closed Eyes Tests

0,0

0,2

0,4

0,6

0,8

1,0

1,2

1,4

Quiet

Stance

Period I Period II Period III Period IV

Periods of Vibratory Stimulation

T
o

rq
u

e
V

a
ri
a

n
c
e

CC

SD24C

SD36C

* * *

*

*

*

?����� +$)H ������
 ����
�� �	 ���.�� �������� �������� &� 	���� �
��	���$ T
������� � �����6����� 
���
 �	 P < 0.05 ��� TT ������� �����6����� 
���
 (���
P < 0.01$

*�



��� ����� �	 �������� &������� �� ��� �����
�� ��.������ �$�$ ����������� �	
���.�� �������� &��(��� ������ � ��� ������ �;� ���� ����������� 	�� ���������
�������� �&�
��� (��� 	����$ �� ��� ��������������� ���.��� �� ����������
 ��E��#
����� ���
� &� ����
���� &��(��� ������ � ��� ������ �; �� ��� ����
� %��):�
%��)
 ��� %�*+:$ :����.����
�� ���� ��������������� ���������� �� ��� ����#
�
�� �� ��������� �� ����� �	 	��� �
��� ����������� �����$ ������

�� �

 ����
�
�=���� ��� ���� ���� ������
 ���� /:
3 (��� 	���� �� ���� ��� �����6���� ��	#
	������� (��� ��������� ������ � (��� ������ �;$ ��� ����������
 ����
�� �	 ���
����������� ������ �#�; ��� N%#������ � ��� ��������� �� ��&
� +$�$

��&
� +$�H %������ �	 ��� ����������
 ����
� 	���� &��(��� ��� ���.�� ��������
��
��� ������ .���� ������ /N%3� ������ � ��� ������ �;$ 0#��
��� 
��� ���� 0.05
��� ���������� �����6���� ��� �� ������� ��� �����6���� /p > 0.053$

��������������� ������

N%#� �#�; N%#� �#�;

:: p < 0.00 p < 0.01 p < 0.01 ��
:
 p < 0.01 p < 0.05 p < 0.05 p < 0.05

%��): p < 0.00 �� �� ��
%��)
 p < 0.00 �� p < 0.01 ��
%�*+: p < 0.00 p < 0.05 p < 0.05 ��
%�*+
 p < 0.00 �� �� ��

 ���� !��	���� 
" �
�	�	
� ����

:���������� ��������������� ���������� ��� ���
���� �	 �������� &��� �������
���( �
���� �� �����6���� ��E������ &��(��� ��� ������
 ����
� ��� &��� ��� �)
���� ��� ��� *+ ���� �
��� ����������� ����
�$

������

�� �� ����������
 ��E������� (��� 	���� &��(��� ��� ������
 ����
�
��� ��� �
��� ����������� ����
� �� ������ �$ ��(����� �� ������ �;� ��� 
�����

���� ���( ����������
 ��E������� &��(��� ��� ������
 ���� ��� �) ����� �	 �
���
����������� �� ��� ,��� /p < 0.053� ��� ��� /p < 0.053� ����
��� /p < 0.053 ���
��� ���� /p < 0.053$ �
��� ����������
 ��E������� &��(��� ������
 ���� ��� *+
���� �	 �
��� ����������� �� ������ �; (�� 	���� �� ��� ��� /p < 0.053$ ����
����
� ��� &� ���� �� 6����� +$ ��� +$+$

**



Knee Movements

0

1

1

2

2

3

3

Quiet

Stance

Period I Period II Period III Period IV

Periods of Vibratory Stimulation

P
o
s
it
io

n
V

a
ri
a
n
c
e CC

CO

SD24C

SD24O

SD36C

SD36O

*

Hip Movements

0

1

2

3

4

5

6

7

8

9

10

Quiet

Stance

Period I Period II Period III Period IV

Periods of Vibratory Stimulation

P
o
s
it
io

n
V

a
ri
a
n
c
e CC

CO

SD24C

SD24O

SD36C

SD36O

*

*

*

?����� +$ H ������
 �������� �	 ��� ,��� ��� ��� ���$ %���������
 ��E������� ���
	���� �� ������ �; &��(��� :: ��� %��): �� ��� ,���� &��(��� :: ��� %�*+:
��� %��): �� ��� ���$

*)



Head Movements

0

5

10

15

20

25

30

Quiet

Stance

Period I Period II Period III Period IV

Periods of Vibratory Stimulation

P
o
s
it
io

n
V

a
ri
a
n
c
e CC

CO

SD24C

SD24O

SD36C

SD36O

**

**

*

Shoulder Movements

0

2

4

6

8

10

12

14

16

Quiet

Stance

Period I Period II Period III Period IV

Periods of Vibratory Stimulation

P
o
s
it
io

n
V

a
ri
a
n
c
e CC

CO

SD24C

SD24O

SD36C

SD36O

*

**
*

?����� +$+H ������
 �������� �	 ����
��� ��� ���� ��������$ ��� ����������

��E������� �� ������ �; &��(��� �
��� ����������� ����
� ��� ������
 ����
� ���
���� �������� ���� 	�� ,��� ��� ��� ���������$

* 



��� ������
 �������� �� ��� ����� �	 ��&������ �����
����� �� �� �������� �	
&��� �(��$ ���� ��� &� ���� �� ��� ����������
 ���
���� ���	����� �� ��� ��#
������ ���������� ��������� �� ��&
� +$� (���� �������� �	 ������ � �� ��������
(��� �������� �	 ������ �;$ �� ����� ����
� ::� :
� %��):� %��)
� %�*+: ���
%�*+
� ����� ��� �����6���� ��E������� �	 ��������������� &��� �(�� &��(���
.���� ������ /N%3 ��� ��� 6��� �����
�� ������ /������ �3� ��� ��&
� +$�$ � ���#
������� &��(��� �����
�� ������ � ��� ������ �; ���( ����������

� ��E�������
�	 &��� �(�� /�������� ��������3 �� &��� �
���� ���� ��� ���� ���� ������
 ����
�
��� �� �) ���� �
��� �������� �
���� ���� ����
� /::� :
 ��� %��):3$ ��(�����
�� ��� �) ���� ���� ���� ��� ��� �(� *+ ���� �
��� ����������� ������ ����� ��
����������
 �������� ���������� �� ��E������ &��(��� ��� �������� &��� �(�� �	
������ � ��� ������ �;$ ����� ��� �������� �	 &��� �(�� 	���� �� ��� ������

����
� �� ��� ������� �� ��� �
��� �������� ������ �������

� �� ���� �	 *+ ����
�
��� �����������$

��� 
�����
 &��� �(�� (�� 	���� �� �������� �� ��� ������
 ���� (��� ����
���� /:
3 ��� �� ��� �(� ����
� (��� �) ����� �	 �
��� ����������� /��&
� +$�3$
�� �

 ��� ����� ����
�� �� �����6���� ��E������� �	 �������� (��� 	���� &��(���
������ � ��� ������ �;$

*+



��&
� +$�H %���������
 ���
���� �	 ��
��
���� ��������� �	 �������� ����$ ?�� �#
��
��� 
����� ���� 0.05� ��� �����6����� /��3 ��� ����
����$

��������������� ������

N%#� �#�; N%#� �#�;

:: ���� p < 0.00 p < 0.01 p < 0.01 ��
%���
��� p < 0.00 p < 0.01 p < 0.01 ��

��� p < 0.00 p < 0.01 p < 0.05 ��
M��� p < 0.00 p < 0.05 p < 0.05 ��

:
 ���� p < 0.01 p < 0.05 �� ��
%���
��� p < 0.01 p < 0.05 �� ��

��� p < 0.00 p < 0.01 �� p < 0.05
M��� p < 0.01 p < 0.05 �� p < 0.05

%��): ���� p < 0.05 p < 0.01 p < 0.05 ��
%���
��� p < 0.01 p < 0.05 �� ��

��� p < 0.01 p < 0.05 �� ��
M��� p < 0.01 p < 0.05 p < 0.05 ��

%��)
 ���� p < 0.00 p < 0.01 p < 0.01 ��
%���
��� p < 0.01 p < 0.05 p < 0.01 p < 0.05

��� p < 0.00 �� p < 0.01 ��
M��� p < 0.00 �� p < 0.01 ��

%�*+: ���� p < 0.00 p < 0.01 �� ��
%���
��� p < 0.00 �� �� ��

��� p < 0.00 �� �� ��
M��� p < 0.00 �� p > 0.05 ��

%�*+
 ���� p < 0.05 p < 0.05 �� ��
%���
��� p < 0.01 �� �� ��

��� p < 0.01 �� �� ��
M��� p < 0.00 �� �� ��

*7



 ���� �
������	
�

?������ +$7 ��� +$8 ���( ��
��
���� �����
����� ���>������ &��(��� ���������
�	 ��E����� &��� ������� �� ��������������� ��� 
�����
 �
���� ����������
�$ �� ��#
��� ������ ���
����� .���� ������� �����
����� ���>������ ��� ��
��
���� &��(���
����#����
���� ����#���� ����#,���� ����
���#���� ����
���#,��� ��� ���#,���$
9������
�� ����� �� � �������� �������� �	 �����
����� �	 ��������������� ��������
�� ��� ����� �	 �����
�� �� ������ �$ ���� ������� ���� � ���� ����� &��� �������
�� �������� ��� ������ ��� ���������� �	 �������� �����
�� �������� �� ���
�����������
 ����
��� ������� �� ���������$

Anteroposterior CC

0,3

0,4

0,5

0,6

0,7

0,8

0,9

1

QS I II III IV

C
o
rr

e
la

ti
o
n

Head-Shoulder Head-Hip Shoulder-Hip

Shoulder-Knee Hip-Knee

Anteroposterior CO

0,3

0,4

0,5

0,6

0,7

0,8

0,9

1

QS I II III IV

C
o
rr

e
la

ti
o
n

Head-Shoulder Head-Hip Shoulder-Hip

Shoulder-Knee Hip-Knee

Anteroposterior SD24C

0,3

0,4

0,5

0,6

0,7

0,8

0,9

1

QS I II III IV

C
o
rr

e
la

ti
o
n

Head-Shoulder Head-Hip Shoulder-Hip

Shoulder-Knee Hip-Knee

Anteroposterior SD24O

0,3

0,4

0,5

0,6

0,7

0,8

0,9

1

QS I II III IV

C
o
rr

e
la

ti
o
n

Head-Shoulder Head-Hip Shoulder-Hip

Shoulder-Knee Hip-Knee

Anteroposterior SD36C

0,3

0,4

0,5

0,6

0,7

0,8

0,9

1

QS I II III IV

C
o
rr

e
la

ti
o
n

Head-Shoulder Head-Hip Shoulder-Hip

Shoulder-Knee Hip-Knee

Anteroposterior SD36O

0,3

0,4

0,5

0,6

0,7

0,8

0,9

1

QS I II III IV

C
o
rr

e
la

ti
o
n

Head-Shoulder Head-Hip Shoulder-Hip

Shoulder-Knee Hip-Knee

?����� +$7H ��������������� �����
����� &��(��� ��E����� &��� �������� ����
����$ ��� �����
����� ��
��� ������� ���� ��� ��&'���� ���� ������� � ����#
���� ������� (��� ���� ����������� ��������� �	 ��� &��� �������� ��� �� ���
��&������ �����
��$

��� �����
����� &��(��� 
�����
 ������ &��� �������� �� ��� ������� ���
���� ����
� �� �� ��� ��������������� ����$ ����� ����� �� �&�����
� � ����
�����
����� �� �

 �������$ ��(����� ����������� ��� &� ���� �� ��� 
�����
 ����
���� ����
 ���������� ���� ���� ���������� �	 � ���� ����� ������� ����� �� ���
6��� �����
�� ������ /������ �3$

*8



Lateral CC

0,3

0,4

0,5

0,6

0,7

0,8

0,9

1

QS I II III IV

C
o
rr

e
la

ti
o
n

Head-Shoulder Head-Hip Shoulder-Hip

Shoulder-Knee Hip-Knee

Lateral CO

0,3

0,4

0,5

0,6

0,7

0,8

0,9

1

QS I II III IV

C
o
rr

e
la

ti
o
n

Head-Shoulder Head-Hip Shoulder-Hip

Shoulder-Knee Hip-Knee

Lateral SD24C

0,3

0,4

0,5

0,6

0,7

0,8

0,9

1

QS I II III IV

C
o
rr

e
la

ti
o
n

Head-Shoulder Head-Hip Shoulder-Hip

Shoulder-Knee Hip-Knee

Lateral SD24O

0,3

0,4

0,5

0,6

0,7

0,8

0,9

1

QS I II III IV

C
o
rr

e
la

ti
o
n

Head-Shoulder Head-Hip Shoulder-Hip

Shoulder-Knee Hip-Knee

Lateral SD36C

0,3

0,4

0,5

0,6

0,7

0,8

0,9

1

QS I II III IV

C
o
rr

e
la

ti
o
n

Head-Shoulder Head-Hip Shoulder-Hip

Shoulder-Knee Hip-Knee

Lateral SD36O

0,3

0,4

0,5

0,6

0,7

0,8

0,9

1

QS I II III IV

C
o
rr

e
la

ti
o
n

Head-Shoulder Head-Hip Shoulder-Hip

Shoulder-Knee Hip-Knee

?����� +$8H ������
 �����
����� &��(��� ��E����� &��� �������� ���� ����$ �����
�� � ���

 �������� �	 �����
����� �� ��� ���� ���� ����
� �������

� �� ��� �) �����
�	 �
��� ����������� (��� /%��)
3$

��� ������ ������%�	���� 	�	
����

�� ���� �������� ��� ����
�� �	 ��� ������ ������6������ ���
���� ��� ���������$
?����� ��������� �������� ��� ��(�� �������� 	�� � ������
 ��&'��� ��� ���(�$

 ���� �
������� ��������

��� .�������� ��������� �������� (�� ���� &��(��� ��� ����� /�����
��3 ���
������� �	 ��� ��������������� �
��� 	�� 	��.������� &�
�( �$� �-$ �&��� ����
	��.������ ��� ��������� ��
��� (��� �
��� �� -���$ �� ��� 
�����
 �
���� ���
��������� �������� ���( 
�( ��
��� 	�� �

 	��.������� ���������� ���� ��� �����#
������ ��
����� ��� 
���� ����� 
���
� �� 
���� ������� �	 ����������� �(��$
�����������
�� ��� ��������� 	�� ��� ���� ���� ����
� (��� �����������

� 
�(��
���� �� ��� �
���� ���� ����
�$ ?����� +$< ���(� ��� ��������� &��(��� �����
��
��� ��������������� ��� 
�����
 ���.���� ����������
�� �	 � ��&'��� �� � �
����
���� ������
 ����
$

�� ��� &� ����
���� ���� ��� ���� 	��� ��� �������������� ����
� �� ��� ���

*<



������� ���� �� ����
$ �� ����� �����
 (� ���� � ��&������ �����
 �	 � �������
	��.����� (���� �� ������ �� ��� �E ��������� �� � 012% ������
�$ ���� �����
�����
 ��E��� � 
�� 	��� ��� ������� /	������ ������� ��� ���������3 ��� ���
��������� &��(��� ����� ��� ������ ��� �����	��� ��� ���������
� ������
� �$�$
�
��� �� �$

?����������� �� ����
� ����� &� ������� ��� ���� ��� �������� &��� �(��
�������� �	 ����
� �����
�� ������� �(�� ��� ����
� ����������� &��� �(��
	��� ��� �����
 &�
���� ������
$ ��������� �� ��� ��
����� &��(��� ����� �(�
����� �	 &��� �(��� ��� ��������� �� �E�����$ %�&'���� (��� 
���� �������
�	 ����������� �(�� ��� ���� ��>��
� �� ����
 ����� ��� ��������� &��(���
�����
�� ��� �(�� (�

 &� 
�($

10
−2

10
−1

10
0

10
1

10
2

0

0.5

1
Mx

Frequency [Hz]

C
xy

10
−2

10
−1

10
0

10
1

10
2

0

0.2

0.4

0.6

0.8
My

Frequency [Hz]

C
xy

?����� +$<H :�������� �������� &��(��� �����
�� ��� ��������������� ��� 
��#
���
 ���.��� /4= ��� 4�3 	�� �
���� ���� ������
 ���� /::3$ ��� ���������
&��(��� �����
�� ��������������� ���.�� /4=3 �� ������ ���� �� ��� 
�����
 ����$

)�



10
−2

10
−1

10
0

10
1

10
2

10
−10

10
−5

10
0

10
5

Power spectrum for stimulus (input)

Frequency [Hz]

10
−2

10
−1

10
0

10
1

10
2

10
−5

10
0

10
5

Power spectrum for Mx

Frequency [Hz]

10
−2

10
−1

10
0

10
1

10
2

10
−5

10
0

10
5

Power spectrum for My

Frequency [Hz]

?����� +$��H 0�(�� �������� 	�� �����
�� /�����3� ��������������� ���.�� /4=3
��� 
�����
 ���.�� /4�3 	�� �
���� ���� ������
 ���� /::3$ ��� �
��� ���( ����
��� �����
�� �����
 ���� �� ����� ��� ����������� &���(���� ��������� ��� ��(��
�������� �	 ��� �������$

)�



 ���� �����
�
����	
� �
���	�$

��� 	�

�(��� 6����� ���( ��� ���� ;�? ��
��� 	�� ��� ��= ����
�� ::� :

%��):� %��)
� %�*+: ��� %�*+
� (��� ��� ����
 �	 �����
�� ������ � ��
��
������ ������� �

 	��� �������$ ��� ���� �������&
� 	��� �� ���� ��� ;�?
��
�� ��������� (��� ��� ��
������� �� ���	����� �� ��&��.���� ���� ��������$
��(����� �� �� �&����� ���� ������ ������ ��� ��E������ &��(��� ����
���� ���
���� ������� (�

 &� 
����� (��� � ����
 �� ��������� �� ��� ���� �������
��� ����
���� �� � 
���� ���� �������$ �����	���� ��� ��
��
���� ;�? ��
�� ��
�=������ �� ��������$ �����������
�� ��� ;�? ��
��� ���� �� �������� �� (���
��� ����� �����
�� ������ �� ���� �� ��
������� ���$ ��� �=�
������� �	 ����
(��
� ���&�&
� &� ���� ��� �����
�� ��.����� �	 ��� ����� ������ �������� 
�����
�������
� �	 ��&������ (���� ����
�� �� � 
����� �������� �	 &��� �(��$ ���
	������� �	 ����������� �(�� ���� ��� ��� &� �=�
����� 	��� ��� ����
 (�

 &�

�(�� ��� ������ ��� ����
 (�

 ���� ������� �&�
��� �� �=�
��� ��� ��������
&��� �(��$

�� ���� ������ ��� ����� �����
 ��� � 
����� �������� ���� ��� �������� �	 ���
���� ������ (���� ����
� �� �������� ;�? ��
���$ B������� ;�? ��
��� ��� &�
� ����
� �	 �� �����&
� ����
 (��� �������
��� �	 ��� ������ �����= A �������
��� ���� ����
�$

��(����� ��� �������� �	 ��� ����� (�

 �
�� &� 
���� �	 ��� ��������������� �	
��� ������ ���� ������� ������ ����$ �	 ��� ��
�������� �� ��&��.���� ����
�������� ����
� �� ���� �������� ;�? ��
��� �������� �� ��� ��
������� �� ���
���� ���� ��� ��� ��� ��������� ������ ���� �

 ��
�� ������ ��� ���� ����
��
�$�$ ��� ������ �� ���&
�� ������� �	 ��� ������ �������� ��� ���������$ �� ���
��������������� ����� ��� ����
 ��������� �� ��� 6��� �����
�� ������ ���� ����
�������� ;�? ��
��� (��� ��� ��
������� �� ���	����� �� ������ ����� ��� 	���$
���� ������� ���� ���� ,��� �	 ���� ������� ���������� �� �������$ B� �
���
��E������ &��(��� ��� ��= ����
� ��� &� ������� �� ����� ��������������� ����
�$

5��� 
��,��� �� ��� 	��� ����
� ��������� �� ���� ����
� �����
�� ������
��� ��
������ ������� ��� ���� ���� ���� ��� ��
��
���� ;�? ��
��� ��� �������
������  �#+� P 	�� �

 �������$ �����������
�� ����� �� �� �������� �� ;�? ��
������ ����� (���� ��� &� �=�
����� &� ��� 
����� �����
����� �������
� �	 ����
������$ � ���������� &��(��� ��� ��= ����
� �������� ���� ��� �(� ����
� �	���
*+ ����� �	 �
��� ����������� ���� ������ ��
��� �	 ;�? �� ������ ����� ���
	���$ ���� ��� ��� &� ���� �� ��� ������
 ����
�$ 9������
�� � 
����� ���� �	
��� &��� �(�� �������� �� ��� �(� 
��� ������� �� ��� %�*+: ��� %�*+
 ���
&� �=�
����� 	��� ��� �����
�� �� ��� ��
	 ����
��$ ���� ��� &� � ����
� �	
��������� ��������� (���� ��������
� �E��� ��� ���������� �� ��� �����
��$ ��
����
� &� ��������� ���� �

 �	 ��� ��������� ����
� ���� ���#�������� ;�?
��
���$

)�



Anteroposterior CC

0

10

20

30

40

50

60

70

I II III IV

V
A

F
[%

]

Fy Mx Knee Hip Shoulder Face

Anteroposterior CO

0

10

20

30

40

50

60

70

I II III IV

V
A

F
[%

]

Fy Mx Knee Hip Shoulder Face

Anteroposterior SD24C

0

10

20

30

40

50

60

70

I II III IV

V
A

F
[%

]

Fy Mx Knee Hip Shoulder Face

Anteroposterior SD24O

0

10

20

30

40

50

60

70

I II III IV

V
A

F
[%

]

Fy Mx Knee Hip Shoulder Face

Anteroposterior SD36C

0

10

20

30

40

50

60

70

I II III IV

V
A

F
[%

]

Fy Mx Knee Hip Shoulder Face

Anteroposterior SD36O

0

10

20

30

40

50

60

70

I II III IV

V
A

F
[%

]

Fy Mx Knee Hip Shoulder Face

?����� +$��H 4��� ;�? �	 ��������������� ����
 � ��������� �� ��� 6��� ����#
�
�� ������$ %���
����� ��� ��
��
����� �	 ;�? ��
��� ��� ���� �� �

 	���
�����
�� �������$

)*



Anteroposterior CC

0

10

20

30

40

50

60

70

I II III IV

V
A

F
[%

]

Fy Mx Knee Hip Shoulder Face

Anteroposterior CO

0

10

20

30

40

50

60

70

I II III IV

V
A

F
[%

]

Fy Mx Knee Hip Shoulder Face

Anteroposterior SD24C

0

10

20

30

40

50

60

70

I II III IV

V
A

F
[%

]

Fy Mx Knee Hip Shoulder Face

Anteroposterior SD24O

0

10

20

30

40

50

60

70

I II III IV

V
A

F
[%

]

Fy Mx Knee Hip Shoulder Face

Anteroposterior SD36C

0

10

20

30

40

50

60

70

I II III IV

V
A

F
[%

]

Fy Mx Knee Hip Shoulder Face

Anteroposterior SD36O

0

10

20

30

40

50

60

70

I II III IV

V
A

F
[%

]

Fy Mx Knee Hip Shoulder Face

?����� +$��H 4��� ;�? �	 ��� 	��� ��������������� ����
� ��������� �� ������
� �� ������ �;$ %���
����� ��� ��
��
����� ��� ���� ����� ��� ���� ���� ��� ��
	�� ��� ���������� �������$

))



0 50 100 150 200 250
−100

0

100

F
y

Anteroposterior simulation

0 50 100 150 200 250
−100

0

100

M
x

0 50 100 150 200 250
−100

0

100

K
ne

e

0 50 100 150 200 250
−100

0

100

H
ip

0 50 100 150 200 250
−100

0

100

S
ho

ul
de

r

0 50 100 150 200 250
−100

0

100

F
ac

e

0 50 100 150 200 250
−100

0

100

N
ec

k

0 50 100 150 200 250
−5

0

5

S
tim

Time [s]

?����� +$�*H 9���� ����� ����
 ��������� �� ��� (��
� �����
����� ������$

������ ��� �������� �	 ,���� ���� ����
���� ���� ��� ���, ��� ��� 	���� ���
���.�� �� ��������������� ��������� /?�� 4=3$

) 



0 50 100 150 200 250
−100

0

100

M
x

Anteroposterior residuals

0 50 100 150 200 250
−50

0

50

F
y

0 50 100 150 200 250
−100

0

100

K
ne

e

0 50 100 150 200 250
−50

0

50

H
ip

0 50 100 150 200 250
−50

0

50

S
ho

ul
de

r

0 50 100 150 200 250
−50

0

50

F
ac

e

0 50 100 150 200 250
−50

0

50

N
ec

k

Time [s]

?����� +$�)H 1������
 ������ �	 ��� ����
 ����
����� �� 6���� +$�*$

)+



0 5 10 15 20
−0.5

0

0.5

1

M
x

Correlation function of residuals

0 5 10 15 20
0

0.5

1

F
y

0 5 10 15 20
0

0.5

1

S
ho

ul
de

r

Lag

?����� +$� H :����
����� 	������� �	 �������
� 	��� ��� ��������������� ����
 ��
6���� +$�*$ ��� �����
����� 	������� 	�� ��� �������
� �	 4=� ?� ��� ����
���
��� �
����� 	�� 
��� �� �� �� ����
��$

 ���� %������ �
���	�$

��� ���� ���
���� �� ����
� (��� 
�����
 ��������� �� ������� �������� ����
��E������� �������� �� ��� ��������������� ����$ ?����� ��� �������� �� ���
�����
�� �� ��� �� R������R �� (��� ��������������� ��������� ��� �������$ 1�#
���&����� ��� ��������� ���
����� ���� �� ������

� ����� ��� ��������� &��(���
�����
�� ��� ��� �������� �����&
�� ��� �����6����
� 
�(�� �� ��� 
�����
 ����
���� �� ��� ��������������� ����$ �� �� �����	��� �=������ ���� ��� ;�? ��
���
��
��
���� 	�� ����
���� ������ ��� 
�(�� ���� 	�� ��� ������������� ���������#
������ ����
$ %������ ��� ��
������� �	 ��� ����
 �� ��� 6��� �����
�� ������
�� ��&��.���� ������� ����
� �� � 
���� ���� �	 �������� ;�? ��
���$

�� ����� �	 �������� ;�? ��
���� �$�$ ��� �������� �	 ��� ����� �����
 �� �������
���� ��� �������� �	 ��� �������� �����
� ��� ����
 	��
� �� �=�
��� ��� �	 ���
��������� �	 ��� ������ �����&
��$ �� 6���� +$�+� ����� �	 �������� ;�? ��
���
��� ������� �� -��� (���� �=�
��� ��� 
���� �������� �	 ���� ;�? ��
��� (���
��� 6��� 
�����
 ����
 �� ����
���� ��� �������� (��� ���� 	��� ��&��.����
�������$ ��(����� �� 6�� �	 ��� ��= ����
�� ����� ��� ����������� �	 � 	������
�������� �	 ;�? ������ ������ ��#�;$ ���� �������� ���� ��� ����
 ��������� ��
��� 6��� �����
�� ������ ���	����� (���� (��� ����
���� ��� �������� �������
���� 	��� ������ �; ���� (��� �������� (��� ���� 	��� ������ ��$ ������ ���
��&'��� �� ����� ���� ,��� �	 ���������� �������� ����������� ��� ��!����� �	
��� �����
�� ������&����$

��� 
�����
 ����
� ��������� �� ��� 	�

 �����
�� ������ ���(�� ���� ���	��#
����� (��� �������� ;�? ��
��� �� �
��� �� -���$ 9������
�� ��� 
�����
 ���� ��
���� ���#���������� ���� ��� ��������������� ���� (���� ������ &�� ����
���
����������$ ��� 
�����
 ����
�� ����
� &� ����������� (��� ����� ������������ ��

)7



����$

Lateral CC

0

10

20

30

40

50

I II III IV

V
A

F
[%

]

Fx My Knee Hip Shoulder Face

Lateral CO

0

10

20

30

40

50

I II III IV

V
A

F
[%

]

Fx My Knee Hip Shoulder Face

Lateral SD24C

0

10

20

30

40

50

I II III IV

V
A

F
[%

]

Fx My Knee Hip Shoulder Face

Lateral SD24O

0

10

20

30

40

50

I II III IV

V
A

F
[%

]

Fy Mx Knee Hip Shoulder Face

Lateral SD36C

0

10

20

30

40

50

I II III IV

V
A

F
[%

]

Fx My Knee Hip Shoulder Face

Lateral SD36O

0

10

20

30

40

50

I II III IV

V
A

F
[%

]

Fx My Knee Hip Shoulder Face

?����� +$�+H 4��� ;�? �	 
�����
 ����
 � ��������� �� ��� 6��� �����
�� ������$
%���
����� ��� ��
��
����� �	 ;�? ��� ���� �� �

 	��� �����
�� �������$

)8



Lateral CC

0

10

20

30

40

50

I II III IV

V
A

F
[%

]

Fx My Knee Hip Shoulder Face

Lateral CO

0

10

20

30

40

50

I II III IV

V
A

F
[%

]

Fx My Knee Hip Shoulder Face

Lateral SD24C

0

10

20

30

40

50

I II III IV

V
A

F
[%

]

Fx My Knee Hip Shoulder Face

Lateral SD24O

0

10

20

30

40

50

I II III IV

V
A

F
[%

]

Fx My Knee Hip Shoulder Face

Lateral SD36C

0

10

20

30

40

50

I II III IV

V
A

F
[%

]

Fx My Knee Hip Shoulder Face

Lateral SD36O

0

10

20

30

40

50

I II III IV

V
A

F
[%

]

Fx My Knee Hip Shoulder Face

?����� +$�7H 4��� ;�? �	 ��� 	��� 
�����
 ����
� ��������� �� ������ � ��
������ �;$ %���
����� ��� ��
��
����� ��� ���� ����� ��� ���� ���� ��� �� 	��
��� ���������� �������$

)<



 ���� ��������� �&�����	
�

�� ���� �������� ��� ���� ����
�� �	 ��� ���
���� �	 ��� ���������� �(�	������ ���E#
���� ��� ������� ��� ���������$ %���������
 ���
���� ����� ��� ���#����������
5�
��=�� ���� ���(�� 
���
� �����6����� 	�� ��E�������� &��� (��� ���������
��E����� ����
� ��� (��� ��������� ��E����� �����
�� �������$ ��� ���� �
���
��E������� (��� 	���� �� ��� ���E���� ��������� (��� ����������� ��� ����
���
�����
�� ������ ��� ��� ��&#������� �#�;� ��� 6���� +$��$ �� 6����� +$�8 ��
+$��� ��� ���� �������� �� ���� 	�� �����6����� 
���
�$ � �����6����� 
���
 (���
P #��
��� 
��� ���� �$� �� ������� (��� ��� ����$

Mx

0

2

4

6

8

10

12

14

Swiftness Stiffness Damping

CC

CO

SD24C

SD24O

SD36C

SD36O

* *

?����� +$�8H ��� ���������� �(�	������ ���E���� ��� ������� �=������� 	���
�� �14�K ����
 (��� ��� ��������������� ���.�� 4= �� ������ �����
$ ����
�
�������� �� 	���� 	�� ��E������ &��(��� ��� ����
�$ T ������� �����6����� 
���

(��� P < 0.05$

 �



Shoulder

0

1

2

3

4

5

6

7

8

9

10

Swiftness Stiffness Damping

CC

CO

SD24C

SD24O

SD36C

SD36O

*
*

*

*

?����� +$�<H ��� ���������� �(�	������ ���E���� ��� ������� �=������� 	��� ��
�14�K ����
 (��� ��� ����
��� �������� �� ������ �����
$ 
�
� � 	�( ����
�
���� ����������
 �������� 	�� ��E������� �� ��� ����������$ ������ T ������� �
�����6����� 
���
 �	 P < 0.05$

Swiftness

0

1

2

3

4

5

6

CC SD24C SD36C

I

II

III

IV

Total

*

* *

?����� +$��H ��� �(�	����� ��������� ��
��
���� 	��� ����� ����� �14�K
����
 (��� ��������������� ���.�� �� ������ �����
$ 
�
� �
���� ���� ����
�
��� ����������$

 �



Stiffness

0

2

4

6

8

10

12

14

CC SD24C SD36C

I

II

III

IV

Total

*
*

*

*
*

*
*

*

?����� +$��H ��� ���E���� ��������� ��
��
���� 	��� ����� ����� �14�K ����

(��� ��������������� ���.�� �� ������ �����
$ 
�
� �
���� ���� ����
� ��� ������#
����$

Damping

0

1

2

3

4

5

6

CC SD24C SD36C

I

II

III

IV

Total

*

?����� +$��H ��� ������� ��������� ��
��
���� 	��� ����� ����� �14�K
����
 (��� ��������������� ���.�� �� ������ �����
$ 
�
� �
���� ���� ����
�
��� ����������$

 �



������� 


����������

�� ���� ������� ���������� �	 �������
 ������
 ��� ���������� �	 �7 ��&'���� ���
&��� ������������ �	��� �
��� ����������� �� �� *+ �����$ 2��� ��� ���������� �	
�����������
 ����
� ������&��� �����#������ ��
������ ��� ����������
 ���
����
�	 �������� ���� &��� ���
��� �� ��� �������� ����$

&��  	��	��� 	�� �����
	����

��� ����������-����� �	 �������� &��� �(�� ����� �������� ���
���� ��������
�����6���� ����
�� (���� �� ��� &� ����
���� ���� ��������� ��!������ ��� �����
�������
 ���&�
���$ �� �� ��������� ���� ��������������� ���&�
��� ��������� ��
�
���� ���� ����� (��� �) ����� �	 �
��� �����������$ �
��� ��� 
�����
 ���&�
���
�� �E����� &� �
��� ����������� �	 �) ������ &��� �� ����
� (��� ���� ��� �
����
����$ ��� J�&��� ���������� �	 �������� ���� ������� ����� 6������ 	��� ���
	���� �
��	��� ����$ ��� �������� ���
���� �	 �������� ���� ���( � (�������
���&�
��� �� ����
� (��� �) ����� �	 �
��� ������������ &�� ��
� �� ��� 
�����

���������$ ������ ��� ����
����� ���� �) ����� �	 �
��� ����������� ���������
�������
 ���&�
��� ���� ���� *+ ���� �	 �
��� ����������� ��� &� ���(�$

%�������� �������� 	�� ��������� �������
 ���&�
��� (�� 	���� �� ������� �	���
��� 6��� �����
�� ������� �$�$ ������ ��#�;$ 0������� �������� ���� ���(� ����
� ���, �� ���� ��������� �� �
�������� �	 �� �� 
���� ���������� ��� ������
���������� ��������� C�D$ :����.����
�� �� ��� &� ��� ���� ���� ��� ���������

���
 �	 ��������� �� ��� ����� �	 ��&������ �����
����� ������ ������ � ���������
��� �������
 ��������$ 5��� ����� ��� �������
 ���, �� �������� &�
���� �����
��� ������&������ ������ &� ��� ��&������ �����
����� &����� ���� ����������
��� ���� ��������� �� 
���$ ���� ��������� ������� ��� 6������ �	 (�������
���&�
��� �� ������� ��#�;$

��� ��������� ��� �
�� ������� ��������� ��
� �� ���� ����� �	 �������

������
 ��� �
��� �����������$ ��� ����
�� 	��� ���.�� ���� ��� �������� ����
���(�� ���� ������� ���&�
��� (��� ���� �	��� �������� �� ��� 
�����
 ���������
���� �� ��� ��������������� ���������$ 
�� ���������� ����
���� ���������� �� ����
��� ��&'��� ���� ���� ��������� �� ������� �� ��� ��������������� ������&�����
������ &� ��� ��&������ �����
�� �	 ��� ��
	 ����
��$ ��� 
�����
 ������&������
��� ��� �� ������ �� �� ��� ��������������� ���������� ��� ������ 
���
� ���������
�� ����� �� 
�����
 &�
���� ������
$

 *



��� ����������� 	��� ���� ��� *+ ���� ����� ��� ��
��
���� �����6����� ��
���
�������� � "��������" (���� ��� &��� �(�� ����� ���������$ ���������
�� ��� &���
�(�� �� �=������ �� �������� (��� ��� 
���
 �	 �
��� ����������� ����
���� �� 
�����
�(�� �	��� *+ �����$ ��� �=�
������� �	 ���� 6����� ��� &� ��&�������� ���
�������������� ���� ��������� ����
	$ 9���� ��&'��� ���	��� ��� *+ ���� �
���
����������� ����
 �	��� ���� ���� ���	����� ��� �) ���� ����
$ ����� ���� ����
������� �=�������� ��� �&�
��� �	 ��( �� ������� �� ��� &�
���� ������&������
��� �����.����
�� ��� �������� &��� �(�� �� ������� �� ��� *+ ���� ����
$

��� �����
����� ���
���� ���(� ���� ��� ��������� �������� �� ��� �����
�#
���� ����� (�� ���� � ���� ����� &��� ������� (��� ������ �����
����� &��(���
��� �������� �	 ��E����� &��� ��������$ ���� �� �
�� �� ��� 
��� �	 ��� (��, �	
?������� /��� 3 C+D$

&�� ������ ������%�	����

��� ��&����� ������6������ ����� B)%�� ��� 4
9%0 �
�������� ���� ������
�� &� ���� �E������ ������� �� ����
 ��� &��� �(�� ��� ���.��� �=����� &� ���
	��� (��� ��� �����
�� �����
 �� �����$ %���� ��� ���� �� ���#����������� ��� ����
�������� ���� &��� �� ������� ��� ���� ������ �� ����� �� �������� ��& ����
�
�� ������� ���� �������
�$ ��� ���������� ��� ��� ��� �	 ��E����� ��
�������
��� ����
����� ���������� ������� ���� ��� ��������������� �	 ���� ���� �������
������ ���� �� �
���� ����� �������������� ����
$ 5��� �������� ��� �����
��
������ ���� 	��� ������� ��� �������� ����
� �� ���� ��& �������
�� ������ ;�?
��
��� (��� �&������ �������� �� ��� ����
 ��������� �� ��� ����
��� ����
���$ ���� ��������� ���� ��������� ����������� 	�� �=���
� � ������ �	 ������
�������� ������ ����$ ��(����� �� (�� ��>��
� �� 6�� ���
���� ������� ��
����������-� ��� ���� ���������� �	 ��� ������ ��������$


�� ���� (�� �� ���
� &�
����� ����
 ��������� �� ��� ������ ����� ��#
������������� ����
� 	�� �����
�� ������� �#�; ��� ��� ����
 �����
�� ������$
1������� ��� ����
 ����� �� ������ �� �� �����&
� �� �������� ��� �������
 ���#
���
 ���&
�� 	��� � 0�� �����������$ ��� �������
 ������
 �� �� ���� ���� ���#
	����� ��� ��� ��,
� ���.�� &� ��� ��� �	 �����������
� ����������� ��� ����������
������
 �������$ ��� ��������� �	 ���� �������� �� ���� ��� ����� ����������
�	 ������� �(�	������ ���E���� ��� ������� ����
� ��� &� �=������� 	��� ���
����
$ ����� ���������� ����������-� ��� ����� �������� ��� ���� &��� ����
�� ������ ������� �� ��� ����

�� ������$ ��(����� ��� ����������
 ���
���� �	
��
��
���� ��������� ��
��� ���( 
���
� �������� 	�� ��������� �������$ 
�
�
�� � 	�( ������ ����������
 �������� �� 	���� 	�� ��� ���������� ���� ��� ��&'���
��� ������ ������
 �������� ��� �� ��������� ��>��
���� �� �������� &�
���� ��
�� �E��� �	 &���� �
��� ��������$ :����.����
�� �� �� ��������� ���� ��� ��&'����
���� � ����� &��� ������� �� �

 ����
� (���� �����&
�� � ����
�#
��,�� ��������
�����
��$ ���� ����
����� ���� ��� ���
��� ��� 6������ 	��� ��� �������� ���
#
����� (���� ��������� &��� �(�� (�� 	���� �� �) ���� �
��� ����������� ����
�
(��� �
���� ����$ �� �������� �	 &��� �(�� ��� ������ �
������ ��� ������
�������� �� ������&�� &� � ����� &��� ���������$

��� 
�����
 ����
� (��� 	���� �� &� 
��� ��
��&
� (��� &�� ����
����� ������#
����$ 0��&�&
�� ���� �� � �����.����� �	 ��� ���� ��������� &��(��� �����
�� ���
��� 
�����
 ��������$ ��� 
�����
 ���� �� ��� ���� ���� � ������ �������� �� ���
��������������� ��������� (���� ��� &� ����
���� &� ���������� �	 ��������

 )



���� ��� ��������� (��� ��� �����
�� ��.�����$ ����� ��� �(� �����&
� ���#
�
������ ���� ��� &� ���(� 	��� ��� 
�����
 ����
���$ ��� 6��� ����������� ��
���� ��� 
�����
 ���� �� �G����� (��� 
����� ���� ������� ��������������� ����
�� ��� ��������������� ����$ ���� ���
���� ���� � ����
 ��������� �� ��� �	
������� �#�;� ���	���� ���� ����
� (��� ��� ����
���� ������ �� �������� (���
���� 	��� ������� ������$ ?����������� ��� 	��� ���� ����
� ��������� �� ���
����
��� 
�����
 ���� ������ ��� &�� ���	������� ��� �������� ;�? ��
��� ��
�
��� �� -��� ������� ���� ����
����� �	 
����� ���� ������� ��������������� ��

�����
 ����$

��� ����� �����&�
��� �� ���� ��� 
�����
 �������� ����
� ������ &� ������&��
(��� � ����
 (��� ��� �����
�� ��.����� ��
� �� �����$ ������ ��� ������ ��'���
��� ���, �	 ��,��� ����
������ �� ��������� &����$ �����	���� ��� ����
������
���������� ��� 
�����
 ����
��� ����
� &� ��,�� (��� ���� �������$

�	 ��� ����
������ ����
� &� ���(� 	��� ��� ������ ������6������ ���
�#
���� �� (��
� &� ���� �
��� ����������� ���� ��� ������� �������
 ������
 ���
��� �&�
��� �� ��� ���������� ������� �� ����
� ��� ������� &�
���� ������&�#
�����$ �� 
����� ���� ��� ��� &� ��������� &� ��� ���
���� ������� ���� ��
���� �����$ ��������� �� ��� 6������ �	 %��
������� �� ���� �
��� �����������
��
� �E��� �������
 ������
 �� ����� (���� ������ 
���
� �	 ������� �����������
�� ����� ������������ �� ��.����� C�<D$ ��� &�
���� ���, �� ���� ����� �� 	���
�
����
� (��� ��� ���� ��>��
� ���� ��������� ������ �
���� ���� ����
� (���� ���
������
 �	 �����
 ����� ���
��� ���� ��� �������
 ������
 ������ ���� �� &� &����
������
� �� ������������� ��� �����&�
�� ������$ ��(����� �� ���
��� ��&'����
��� ����������� &� ��� ������
 ������� ������ �� ����
� �E������ ��� ������� ���
������� �����
 �
������� ��� �� �
��� ������������ &�
���� ��� &� ����������
(������ ���&
��� (��� ������&������ �� ��� �������������� ������� ������ ��
����������$

&�� '�(��
����

�� ����� �=���������
 ����� ����� ��� ���� ������� �	 ����� ���� (�

 �E��� ���
�������$ ?����� (� ���� ��� �=���������
 �������
��� ����
���� ��� ��&'����$
9��� ������ ���� �E���� (��� ���� �� ����&
��� �.��
 ���� ����������� ����� ��
�
(��� � ���, �	 ����
�� ��!������ &� ��E������ �� ���� ����������$ 
�� ��'��
���&
�� �� � ����� 
�,� ����� �� ��� ��&�������� �� ��� ���� ������ ����
	 ���
�������

� �� ��� ������������� ����$ 5���� �������
 ���&�
��� �� ����
� �����&
�
(��� � ������ ���	���� � ������������� 	�� ��� 6��� ����$ %���� ��� "6��� ����
�������������" ������ �� ������
 ����
 �� �) ����� �	 �
��� ������������ ����� �	#
	���� (�

 ��� ���� ��!����� �� ��� *+ ���� �
��� ����������� ����$ ��	��������
��
�� �� �
���� �������&
� �� �
������� ���� ���������� �� ��� ����
��$

�� ����� �	 
���� ������� �	 ����������� ��������� �� ��� �����
 &�
����
������
 ���� �� �������� ������� ������� �� �� ��>��
� �� ���
� ������ ������6��#
���� �������$ %�&'���� (��� ���� �������� ��� ���� ��������� &��(��� �����
��
��� �������� �� ����� �	 ���������$ 4������ �	 ���� 6
������ ��� &� ���� ��
������ ��� ������� �	 ����������� �(��$ ��(����� ��� ����
� &� ����	�
 (���
���
���� 6
��� ������.��� ��� �� ��� ��>��
�� �� ��������� ��� ����������-�
(���� ���� �	 ��� �������� ���� ���� ��� &� ������� 	��� ��� �����
�� ��� ���
���� ���� ���������� 	��� ����������� ������$

��� �=�������� �	 ��� ��������
 ���������� �(�	������ ���E���� ��� �������

  



	��� 4�4
#����
� ����
��� �� ������� ��������� ��
���$ :����.����
�� ���
�14�K �������� (�� ���� �������$ ��(����� �� �� ������&
� �� &� �&
� ��
���	��� ��� ���� ��������� �=�������� 	��� ��� ������ ����� 4�4
#����
�
��� ������� ��� ����
�� (��� ��� �14�K ������$

��� .����������� ����
�� ��� ��� ����
�� 	��� ��� ������ ������6������ ������#
�
��� ���(�� ���� �����������$ ��� ���� ����������� ����
��� ��� ������������
���������� �	��� �
��� ������������ �� �������� ����� .���������� �������� ���
#
����$ B�����

�� �� �� �	 ����� �������� �� ������� ����� �������� ����� ������
������6������ �������$ ���� ������ ����� 	������ �������������$

 +



������� �

����
������

?��� ���� ����� �	 �������
 ������
 ��� ��� �E���� �	 �
��� ������������ ���
	�

�(��� ����
������ ��� &� ���(�$

• ���
���� �	 �������� ������� � (��,�� �������
 ���&�
��� �	��� �) ����� �	
�
��� ������������ �������

� �� 
�����
 ���������$

• ���
���� �	 �������� ������� � ������������� �	 ����������� &��� �	��� �)
����� ��� *+ ����� �	 �
��� �����������$ ��������
�� �
��� �����������
������� �������
 ����������$

• :����
����� �	 &��� �������� �������� �������� &������� �� ��������
��������$ ��(����� �� �������� ��E������� ��� �� �
��� ����������� ��� &�
����
����$

• %�&����� &���� ������6������ ��� �������	�

� &� ���� 	�� ��� ������6������
�	 4�4
 ����
� &��(��� �����
�� ������&����� ��� �������� ��������
�	 ��� ��&'���$

• 9��
������ �	 ��&����� &���� ����
��� ����� ;�? ��
��� ���� �������� 	��
���� ��������� ������ ��������������� (���� ��� &� ��������� �� ������#
����$

• %����� ������6������ �������
��� ���� �� ���� ������ ���� ��� ���� ���
�
��� ������� �	 ������������� �	 �������
 ���&�
��� ��� �� �
��� ������������
��� ��� ���� ���������� &� �=�
����$

 7



���
��������

C�D 4����� �$ 2��� ��� ���� �$ M������$ ��� ����� ���	��
 
�
��� � ��
���������� ���������$ �$2$ ���������� :������� 6	�� �������� �<88$

C�D �$ �� F������ �� �
$ ;����
 ������ ���	������� ������ )� � �	 ����������
(�,�	�
����H 4������� �	 ����� ��� �������� ��� ��
����� (��� ���
������
���	�������$  ��
��� !���	� 7)/�#�3H�$ �<7U��)� ����$

C*D 2$ �� 4���� 0$ ;�� 
��������� ��� 5$ ?������
$ B�������
 �
�������� 	��
��&����� �����#����� ������ ������������ # �� �������(� �<<<$

C)D �$ �������� ��� �$#:$ ������$ ��� ������&����� �	 �����&�
�#�����
 ����#
������ �� ��� ����������� �	 ����� ������� �������$ ���� "����������
#$���%�&� ��7H**8U*) � �<8<$ 0V�� � M$

C D �$ :$ ������� �$ ��������� 2$ F����
&����� ��� 4$ 2�����$ 1�
� �	 �����

��� ������ �����&�
�� ��!������ �� ������� ������� ������
$ '�� ����������
 H�� U��*� �<8+$

C+D 0$ �$ ?�������$ �����
�
 �� ���������� �� '����  �
����� (������$ 0��
������� ���������� �	 
�������
������
���� ���� ����������� ��� $

C7D F4$ F���(��� ��$ 4�:
��,��� ��� 02$ 4�����(�$ 0������������� �

�����
������� &� ����
� ��&������#������&����� &� ����
� �����
�� �� ����������$
$������� �7 H�*8�U�*8)� �<7�$

C8D �$ ��	���W�� 0$ �$ ?�������� 4$ M��
&���� �$ ������ ��� 4$ 4��������$
;����
 ��!����� �� �������
 ������
� (��� ��� (������ �����
 ������ 	���#
&��,$ ���� "���������� #$���%�&� ���/)3H*<�U*<7� ����$

C<D ?$2$ ����, ��� �$4$ B������$ :�����
 ����������� �	 �������
 ����#
�����H ���������� �� �
����� �������#���	��� ���6���������$ ) *�������
�
�������   H�*+<U8�� �<8+$

C��D 1$ ���������$ $�
��� +������� ��� ,������������$ 0������� ��

� 9��
�#
(��� :
�E�� B$�$ �%�$� ���)$

C��D 1$ ��������� ��� 4$ 4��������$ ����� �������
 ��������$ (-( (���
-�	 !����� .��� �8/+3H)�*U)*7� �<<�$

C��D 1$ ���������� 4$ 4��������� ��� 4$ X,�����$ ������6������ �	 �����
�������
 ��������$ ,... ����
 !����� .��� * /��3H8 8U8+<� �<88$

 8



C�*D 1%$ ��������� ��� X2$ ;�

&�$ %�����
 ���������� �	 ��� ����
����� �	
���������������� ����� �� ��� �
�&���� �,�� �	 ��� ����� ����$ !����
-�
� �8)/�3H* *U*++� �<8�$

C�)D 9$�$ M������� �$�$�$ �

��� ��� :$1$ 0	�
�-$ 0������
 ������������ ���
���������� �� �(�� ���&�
�-��� ��������� �	 �����
� ��� �������� (��� &�#

�����
 �����&�
�� ��6����$ .
� !���� -�
� +<H77U<�� �<87$

C� D 4$ M
��&��� F�$ ���������� ��� ;$ ����-$ 2��� �(�� ���&�
�-����� ��
����� �������$ ���� "���������� #$���%�&� ���H�+8U�7)� �<<�$

C�+D 4$ 4��������� 1$ ���������� ��� �$ 5�,
���$ F�
������

� ������� &���
�(�� �� ��� ��������#��������� �
���$ ���� "������������ ���/�#�3H��U�7�
�<<�$

C�7D �$ B������ ��� F$ 4�:�

��$ ��� ������-����� �	 ����� �������
 ����#
�����H � 	����
 &���� ��� �=���������
 ���������$ !���	 ��� !���� $���
8H�* U�7�� �<8 $

C�8D �$4$ B������$ �������� ��!�=�� ������

��� ��� ����� �������$ .
� !����
-�
� �+H <U7�� �<7+$

C�<D �$ %��
�������� 4%$ 1��	���� 19$ ���
� ��� �1$ ��������$ 0������
 ������
�
��������� ��� �
��� �����������$ *����������� </�3H)<U �� �<<8$

C��D 1$ %�� ��� �$ ?$ 4��F�����$ � 	����(��, 	�� ��&����� ������6������ ����#
���$  ���������
 �� ��� �������� (������ (���������� ����� *+78U*+8*�
����$

C��D M��
 �$ X���W� ��� 2'W�� 5��������,$ (������� (��������� $�
���
 �
������ ��� /�
���� 0������� ��

� ����� �������� �<<7$

C��D %$ �������� M$ �����,���� 1$ 2
����� ��� 4$ %����$ ��� �������&�
��� �	
�������������� ������������ ��� ��� �E���� �	 �
��� �����������$ ) ��
�
-�
� )/�3H�<U*+� �<<)$

C�*D �0$ ;���
 ��� �0$ 1�

$ 1������� �� �������� ��� ��&������ �	 �
�(
�
�������� ��������� ���������������� �� ��� ����� 	���$ *����
�� 0����
*)/*3H�8<U�<)� �<8�$

C�)D 4$ ;�������� ��� 0$ ��(�
��$ %�&����� ����
 ������6������$ ���� �H ���
������#����� �����#����� ����
 ������6������ �
��� �	 �
��������$ ,��� )�
(�������  +/ 3H��87U����� �<<�$

C� D ;�$ 5�
��� ��� �FH 4�
��

�$ +�������� 	�
������� ���
������� 0
�����
0����� B�( S��,� �<7<$

 <




